B B T = B g T =

FR25FFE58 FRITFFER

ZDEZE EAOTAMFEHE
11K 17| &
=EFimE
2 | K 18| X
FiEiE=H
3| & 19| H
AEYDH S
4|t 20 | B |BRA-BEH2E
ZELDHE ARFI%5213:20~
5|8 21| k| EBFHF
IR H RE®RZ 13:30~
6 A 22 | /K
BRAO-EHSHE 4 EBEBE
RPN 23 | k |BE&F#&E 13:30~
54 - 3-1-3-2
2 FERBEHE SEXBHE
8 |k [EER2 24 | & |NEH&EZ 13:30~
B\Bhag 2%
SEXBHE
9 | & |EEHREZ 9:00~ 25 | +
54
AR 13:30~
0|¢| 1F:- 0% 26 | B
RXBEFHEE (2-35F)
£ RBEFHEA (4-55)
11| x 27| A [DER 13:30~
HMHRE- 45
B\ -EHF
12| 8 28 | o [BKE BN (4031%%)
RS RN -BEHIE 2573
13| g |MERFELHE HFHHA |29 5k |DERI3:30~
£ 14:00~16:00 1FE-DFH
KATR b BE&FHR7213:30~
141X 30| A | DT 14-3-3-3-4
wHTA b NE®EZ 13:30~
15|x|2772 31|&| BF
AKHTRX K
16 | & |HERRZ 9:00~ 2%
F & O H-BR-BRE&GK)




